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QUESTIONS 

 

1. Find the odd one out. 

(a) Router                   (b) Switch 

(c) Bridge                    (d) NIC 

(e) None of these 

2. Using Internet you can search any information. Which one of the following is an example, of search 

engine? 

(a) Gmail                   (b) Rediff 

(c) Edge                     (d) India times 

(e) None of these 

3. Which one of the following OS is used by network administrator to perform admin task, such as giving 

different privileges to different users? 

(a) Windows Server 2008  

(b) Windows Vista 

(c) Windows 7                     

(d) Windows XP 

(e) None of these 

4. Which one of the following statements is true about Client-server model? 

(a) Client is a computer application that runs on a server computer. 

(b) Client is a computer application that runs on a remote computer. 

(c) Server is a computer application that runs on a remote computer. 

(d) All of these 

(e) None of these 

5. The internet is an example of: 

(a) Cell Switched Network 

(b) Circuit Switched Network 

(c) Packet Switched Network 

(d) All of these 

(e) None of these 

6. Which of the following can be a software? 

(a) Router                 (b) Gateways 

(c) Firewalls            (d) Modem 

(e) None of these 

7. Which is the largest WAN in existence? 

(a) Switch     (b) Router 

(c) Internet                  (d) Modem 

(e) None of these 
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8. Which is a circuit board equipped with microchips? 

(a) Workstation     (b) NIC 

(c) Switch     (d) Router 

(e) None of these 

9. Which one of the following is not a networking device? 

(a) Gateways              (b) Linux 

(c) Routers                   (d) Firewalls 

(e) None of these 

10. Match the following: 

S. NO A S. NO B 

1. Public Switched Telephone A. Use for commands 

2. Router B. Is an example of MAN 

3. Workstation C. Is an example of WAN 

4. Satellites D. Decides the best path for data transmission. 

  E. Communication channel 

 

(a) 1 C, 2D, 3 B, 4 A             

(b) 1 D, 2 C, 3 E, 4 B 

(c) 1 A, 2 C, 3 D, 4 E             

(d) 1 C, 2D, 3 A, 4 E 

(e) None of these 

 

 

 

 

 

 

 

ANSWER - KEYS 

1. (d) 2. (c) 3. (a) 4. (c) 5. (c) 

6. (c) 7. (c) 8. (b) 9. (b) 10. (d) 

 


